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4π

∫

L

I dl ′ × (r− r
′)

|r− r ′|3 [A/m]

H =
1

4π

∫

S

K× (r− r
′) dS ′

|r− r ′|3 [A/m]

H =
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4π

∫

v

J× (r− r
′) dv ′

|r− r ′|3 [A/m]

∮

L
H·dl = Ienc

B = µH [Wb/m2]

µ = µrµ0 [H/m]

µ0 = 4π × 10−7 [H/m]

ψ =
∫

S
B·dS [Wb]

∮

S
B·dS = 0

∇·D = ρv

∇·B = 0

∇× E = 0

∇×H = J

∇×A = B [Wb/m2]

A =
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∫
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Idl ′

|r− r ′| [Wb/m]

A =
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∫

S

KdS ′

|r− r ′| [Wb/m]

A =
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∫

v

Jdv ′

|r− r ′| [Wb/m]

F = Q(E+ u×B) [N]

F = ma = m
du

dt
[N]

F =
∫
Idl×B [N]

F = IL×B [N]

H =
m

4πr3
(2 cos θ âr + sin θ âθ) [A/m]

H =
I

2πρ
âφ [A/m]

T = m×B [N-m]

m = IS ân [A-m2]

H1t −H2t = K, B1n = B2n

L = λ/I [H]

λ = N
∫
B·dS [Wb]
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µ
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µ
∫

v
|H|2 dv [J]

∫
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[x2 + a2]3/2
=
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√
x2 + a2

∫
xdx√
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=
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x2 + a2


